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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

dFVvo

—o— dFVI
+

o —a GG UG e a0 &hh & o,

47.5

45.0

42.5

40.0

37.5

35.0

32.5

30.0

27.5

day

—&— DUC

0. 04 -
0.02

0. 00

0. 02 -
0. 04

300 -

250 -

200 -

150 -

100 -

50 A

47.5

45.0

42.5

40.0

37.5

35.0

32.5

30.0

27.5

day

—&— FRV

47.5

45.0

42.5

40.0

37.5

35.0

32.5

30.0

27.5

day

am——

—&— FRC

200 A

150

100

50 -

0.64
0.63
0.62
0.61
0. 60
0.59
0.58

47.5

45.0

42.5

40.0

37.5

35.0

32.5

30.0

27.5

day



Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-5 0
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